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The first problem below is a matching problem using seven questions and
corresponding answers.

Matching Problem 1: In the colors of the visible light spectrum, the acronym
ROYGBIV is often used.

 1. R stands for 
 2. O stands for 
 3. Y stands for 
 4. G stands for 
 5. B stands for 
 6. I stands for 
 7. V stands for 

OrangeA.
RedB.
GreenC.
BlueD.
YellowE.
IndigoF.
VioletG.

The seond problem below is a matching problem using four of seven possible
questions and corresponding answers.

Matching Problem 2: In the colors of the visible light spectrum, the acronym
ROYGBIV is often used.

 1. G stands for 
 2. R stands for 
 3. B stands for 
 4. I stands for 

IndigoA.
BlueB.
RedC.
GreenD.


